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QUESTION 1

Which statement is FALSE about using compartments?
A. They allow you to isolate resources.

B. They can be used to secure resources.

C. They can be organized in a hierarchical fashion.

D. They are a physical concept that separates users.

Correct Answer: D

QUESTION 2

Which three actions can you perform on a DB system that has an Oracle Data Guard association with a standby
database?

(Choose all correct answers)

A. If the primary database becomes unavailable, then you can use Oracle Data Guard to fail over the standby database
to the primary role.

B. You can write on both primary and standby databases because DB system standby databases in Oracle Cloud
Infrastructure Database are logical standbys.

C. You can terminate a primary database DB system.
D. You can use the reinstate command to return a failed database into standby role after correcting the cause of failure.

E. You can switch over the primary database to the standby role, perform maintenance on the standby database, and
then switch it back to the primary role.

Correct Answer: ADE

QUESTION 3

Which network is used to facilitate the secure monitoring andadministration of Oracle- managed infrastructure
components in Exadata Cloud@Customer?

A. InfiniBand network

B. Backup network

C. Client network

D. Control plane network

E. Cloud operations network
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Correct Answer: D

QUESTION 4

Which TWO statements are true about Interface for Exadata I/O Resource Management (IORM)? (Choose all correct
answers)

A. IORM allows workloads and databases to share 1/0O resources automatically according to admin-defined policies.
B. IORM can be enabled across multiple databases using the Cloud interface of Exadata Cloud Service.

C. IORM allows workloads and databases to share I/O resources automatically according to user requests.

D. IORM can be enabled across multiple Exadata Racks using the Cloud interface of Exadata Cloud Service.

Correct Answer: AB

QUESTION 5

What information is required to connect to the NoSQL Database Cloud Service?
A. API signing key, adminID, user ID

B. signing key fingerprint, API signing key, tenancy OCID

C. user ID, tenancy ID, component ID

D. tenancy 1D, passphrase, handshake key

Correct Answer: B
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